7//’/ = ﬁ B ROWLINSON GARDEN PRODUCTS LIMITED
(@ ROWLINSON
/2~

N2/ GARDEN PRODUCTS V\grr,:lsi}r'\el,r'c'\\l/@gt\géﬂ

4ft Picnic BenCh EninSh SS309A Help Line (Normal Office Hours) 01829 261 121

Email: support@rowgar.co.uk Website: www.rowgar.co.uk
Assembly Instructions

|. Leg to seat support 3. Table

Bolt the legs as shown to the seat supports using 2 x75mm bolts nuts and Position the table on the top of the legs centrally with the table framing on the
washers per leg. Push the bolts through the pre-drilled holes, on the thread inside of the legs. secure in place using 2 x 60mm screws per leg. Screw
end place a washer and then add the nut and tighten. through the leg into the table frame.

Biocidal Products

Regulation EU 528/2012

Wolmanit® CX treated wood is a treated article that incorporates biocidal products: copper hydroxide
carbonate/Il/ and boric acid. They protect wood against fungal decay /rot/ and insect attack.

Keep away from food, drink and animal feeding stuffs. Avoid breathing dust when cutting treated wood.

Before assembly

® We recommend that time is taken to read the instructions before
starting assembly, then follow the easy step by step guide.
The instruction sheet is only a guide to the assembly.
Certain items may not be shown to scale.

® Check all components prior to assembly

® Drill all components where indicated.

® This product should be assembled by no less than two people.
® Never attempt to erect the assembly in high winds. 2. Seats

4. Table supports and braces.

Secure the table supports to the legs just under the table top as shown using
2 x 60mm screw per support. Position each brace under the centre of the table
as shown and secure through the seat support into the end of the brace using
2 x 60mm screws. Then screw | x 60mm screw through other end of the brace
Position the seats on top of the seat supports as shown. Have the seat framing into the underside of the table.

on the inside of the supports and the seats flush to the ends of the supports.

Secure the seats in place using 2 x 60mm screws at each seat end, screw

through the seat support into the frame of the seat.

& Drill pilot holes in the seat frames for each
‘\ﬂ screw using a 3mm drill bit.
Drill

Recommended tools for assembly
® Cross head screw driver

® Drill with 3mm diameter drill bit
® |3mm spanner

No. Components Qty.
| |Leg 4 u 60mm U
2 |Seat support 2
3 | Seat 2
4 {Table op ! IMPORTANT: RETAIN FOR FUTURE REFERENCE
able support
T N—— READ CAREFULLY
LGy AL For contract and domesie s B e
mm t
8 Washer'so 8 We constantly improve the quality of our products, occasionally the
9 |Dome nuts 8 oot ot e of prnting. Wo resebve he e 1o enange e
specification of our products without prior notice.
10 [60mm screws 26

2015 © Rowlinson Garden Products Ltd



